Name: 7 'X U HOUR: Due Date:

- J 2014 Geometry Midterm Review

Directions: This review consists of problems that could be on your midterm. Make sure you
complete each problem and show your work.

1. For equilateral ARST, find the variable and the side lengths. All units are in inches.
s RS EST defof e%;w; latera
: Xt+9-=-ax S=\§ |
" . 19rF X! ST= 18| % inches.

R T j RT=1§

3x-9

2. For isosceles ARST, find the variable and the side lengths. All units arxp 1{1 cent‘lmeteg

EFZ=FG ,,_[E;, \&mc)rwg

/ R HX = ax+ L FG) = ;a(,ncm
&b/:: ,(‘0 EG = 1Hin (J){
=31 e

3. Find the missing angle measures, m<1 and m<2.

5. Find the missing angle measures.

]

25 A




6. Do any of the following sets of numbers create a triangle?
7,20, 10 N©

7,9, 124es

16, 10,9 Jes

V13,6, 6 H€%

7,18,11 NO

gRoTH

7. What are the missing coordinates of the triangle?

oY PR
@(0' gy ) SNOS Ty,
/ \J(\O‘ig’gsulw .

8. What are the missing coordinates of this isosceles right triangle?

" sgn S(ee)
£77

2.7 A 0) X
(0,0) | .
9. What is the shortest distance from P to line n? \
EENEE NN Just Count,
+ @ Ty >
> D1 ot

10.What is the shortest distance from point B to segment AC?
=)

DE F
11.If FH is a median of AEFG, find the perimeter of AEFG.

£H=WGn duh b rueen

E g AXaH=1x-1

2+ H Tx—2 T
X423 X Q5=5X

18 =x\

Dok = 5+ A(DN+

(01.5)(6\-% 234+ 1(5)-Z




12.Find x.

s

(2x — 25) Nx + 5)°

13. In the figure below, B is on E’, Eison D_F, AC is parallel to DF , and BE is congruent to BF.. Name the legs of
the isosceles triangle, name the base angles and vertex angle of the isosceles triangle, and provide an example of
an exterior angle. What is the measure of <DEB and <EBF?

A B C

A 4

]
<

<

D E F

14.1dentify the triangle ACAB is congruent to, then name all correspbndiﬂg parts. There should

be 6 pairs. ACA%%ACDE

B E

<EcD¥<BCA  RC=TD
<E ¥ <R (R 2CE
<D ¥ <A B = ED

15.1dentify the triangle AXZW is congruent to, then name all corresponding parts. There should

be 6 pairs.
T AxzZw=2 A xzy
' <W E v X2 ZXZ
<WXZ2LYXZ XN 2 XW
<K ZW 2 LX 72V 2N 2 2.0

16.Write a two-column proof, | | R () ® QT j Q) /ST |1 3] ver.
Given: RQ = STand RQ || ST

Prove: ARUQ = ATUS o, LS ¥<@®, <RE%LT | g I L‘M\S formu
ok .k <Lg
3. ARVOEATLS 3. ASH




17.Write a two-column proof.
Given: DE || JK, DK bisects JE.
Prove: AECD = AJCK

|. DE /K,
DK bisecks J =

d. IO Z2EG

v 3 KOG ELZ<LKOT
H, <ET<I, L02 <k

A AEGDEAT Gl

18.Write a two-column proof.
Given: 2V = 25TV =058
Prove: VR = SR

. s
\ T, A
\', Ry o \
.A\. '4 1 ';su;',: 2 _‘s"(
Y g ., 3
5 _"‘_’f’ i \"
L e _‘l"'
¥ )

\ .Swer\,

3. 0ef oy Segmant”
Dise At J

3. Verfical £5 oL =

q. /] unes form & alt.
N LS.

5. RAS v ASA

19. ’.‘?\é‘?“ ARCHITECTURE You are
£ designing the window shown
in the photo. You want to make ADRA
congruent to ADRG. You design the
window so that DR 1 AG and RA = RG.

Can you conclude that ADRA = ADRG?

20.Write a two column proof using the stingray below.
GIVEN = OS L RP,PT =RT |.

PROVE - PS=RS

AQS)L &P, PTERT

2. <STP=90, <sTR=90"

T (. D LAG ’l given
AR e
g, <oRA=Q0° [2. det of |
4 0R&M =9

r 8 LDRAZprh (8. swhshhify
Y. DRE v (e Flexine

5 MDA |5 SAS
N

ADLH

9. {‘.11{) m'(": !,

|3, ubsh dhanv

M . >



21. Pindx, PQ.QOR, and RPif APQRis an 1sosceies triangle with PO QR

Verkx L ()" |
P@:K@ d“"’ba"é ).SOLSWOA

22.BASEBALL Alan, Brendon, and Carl were standing in a triangular formation shown. They
were throwing the baseball to warm up for the game. Find the value of x, the measure of each
angle and then conclude what two people must throw the farthest distance.

A\on + Cocl ¥ Brendon =180 pDsun
510+ 4x 415 +1x -5 = §O°
o X +2.0= g0

|)(:IDS

becourne oppoSite L
e %f\gm.cﬁw- m%u LS e oKua:kS&-

23.  Findx and y.

3 yo 2443, y=24 Cox=24y=2443
= 1243, y=12 ) x=1ay=12403
20,
P 9
45°

Ayu=9N2,v=9 B u=9f, y=18v2
C) u=9, v=9v2 D) u=18+2, ‘,_9_\/___



95, Find x U} J(V\ 0 30Y 2 O(\ Y he (W (Y\J
g T A\ g
A j [,)
\L— v W
v
g )
x*+5%=8 -
[x =30

26. Find the altitude of an equilateral triangle whose sides are 20 cm long.

‘\)rs /1

29 Find the hypotenuse of a right triangle where one leg is 4 times the other leg.

, X* 4 () = [ Txr
h T rwx® =" @/\«f—

x M x® =h1' YR
™
™ . \Nyz ~ 1

VY\ al mj “ ()\Ms\\ub




30. Find x, the interior sum, exterior sum, and <M.

Nt 4 Sum Interior Angle Sum = 3(0(20
L v 20r tax— 1oy
‘ ’ 1gO(n-2) =S .
9y f2x — 10 \ 80( Y - 7__\ =5 Exterior Angle Sum = 3(10
g 300 =§ <= 4D
Find X! ) .
<L+ LML Y <P 23p0° Find m <M a-_110
Ax+26+3x-10+ 2x-10+2x =866 <M= 3(40D)-\10
Ax =300 M =wo)

[X=HU]

31.Find x, the interior sum, exterior sum, and <G.

hexagon DEF(7HI with Interior Angle Sum = RS,
iD=/E=sG=/H sF= z.I '
msD = Tx,mLF = 4x Exterior Angle Sum = _
I\ 4 { { v AN
‘ ‘,‘»‘ e U I A x=_orANJ
; »"I { “, | & o
) G-
1_. yh 5 Ll
IR 4 1.
32.Write a coordinate proof. @ s ( 0‘03
Given: Coordinates of vertices of ASPQ and ASRQ. S([) = J
Prove: ASPQ = ASRQ , S@ 3R '21.«%’@ N &
- orzaP
S(0,k) QRa=rn Qf=n ?
g %Ql et
N r@ n » “)(Q l\) V (Qj \1
P(-n,0) | R(n,0) z\ =S 7)
| ( btﬁ $SS ),f
@Q - AF _)f “’L W —
D ~ = (\ ( (\ /‘\._\77, -




33.Write a coordinate proof.

Given: Coordinates of vertices of AACD and ACAB.

Prove: AACD = ACAB

[AB = X]
4 PDC = aAx-X
D(=2X, X) _ C(-X, X) [D C = X&

p 3

N AB b

@ K_LFQ)(R/(.

X . AD™- )(L-{-)(l 661‘:- XZ‘{'XZ

A(-x, 0)  |B(0, 0) © AD={Qx* C® = (o s

oM R
[P oiz]

34.Find the distance between points S and T.

y

8] O |

T8,
pEml

35.Find the value of x.

NACD %A CAB by SSS

~

A A
L’\X—}-B:S‘_\ \({):QA‘QSJO"D S

c—
1

g

~ \ Hx =
T o (x=al
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36.What is the degree measure of the larger of the two angles?

X+3 +dx =
lpZ-'s\"\ ng

(X + 35 % 2

180" linear Poirs we
3x+3 =150 Supel.

SX = 'rT
37.Name the relationships.

|x = SQ'I
ot ext. 4S8

A
- J’.‘I.;(j * %"r, >
x’ff %\r
B SN : 2 outive U LS
g \1 consecuti
38.Find x so that lines | and k are parallel, given < 2 = 27x + 2 and <5 = 18x — 2. (// lines ‘Q’m&f)
% LA +<5 =180 con. LY Aj
i o 8 : OAL S
- 4\312 € AN+ 2H|f - 2= 160 o
| L{ 5 = |10
J \&g\ . x =18
T f& B Fand

x=H]
*

39.Find x so that lines | and k are parallel, given < 4

=17x and <6 = =5+ 18x. S
(’//,,.-(,,(./\Aﬂ‘.‘s for /V\,,\
.
/’3\1

< “{ M L (1,_) (,‘AA;-J(‘: x.(’,,,,xz‘;f\‘ ; / S ol &
3\2 ¢
8N\ 5

Ty = =5 +igx

- ,)(_’ - =K
7\6{ — K
%

(%=5]

40.Name all the relationships that allow us to say 1 is parallel to k.
PN

o]

5 B>
8

<1 =<7 proves l||k because ‘

N+. Yoo
5 !g D
7 NG
e

< 2 =< 8 proves l||k because Calt ink2s focm

I lLineés
< 3 =< 7 proves l||k because

< 34< 8 = 180 proves ||k because SWpppl . (on. int LS

Pocon. 1l lines .



41.Find x, then the length of EF. Show your work, geometry and justify your set up!

2425 DE+EF=DF SQSW od oLhonw

R
E
DEEEE— x+\\3+ax+,zf3=q EF-Q(-9)+a5
X +30 =9 -
BP pon 3x=-2m m

X

oG, £
WC?\";‘S%M [x=-9]

428 the segment bisector of lines AC and BD. Find x, y, and BM. Show your work,

geometry and justify your set up! NVINe
ol AMEMC 0\*’6"’“6‘0'3“
A \f"Jg 5 B N412=20 - H(1)-3
S BH=H0)
M PMEZMB oref ofy Bisector
,,,/ \\\\ 3IX+3 = H(MD-1x_—
D C 3x+3=1/5

3x =12
43.Find all the missing angle measures. Then find the value of 2d — 3(e — ¢).

1 Ty 15 NOT ahwaw

oLk OLJ,Q‘,-‘._—\‘OWCD’\(*‘ "r/\Uf‘*—‘ ot !
QUHO)Y - 3 (140 -50)

g E*\%j

44. Given the following triangle with angle bisector MK state if the following statements are true
or false.
a. m<MKA = 90° <
b. BK = AK* . M

c.m<BMK = m < AMK '
d. ABMA is isosceles with vertex angle M. . \
B A



45. Find the missing angle in the following trapezoids.

a. b, T A
4 ¥ TR
i 7 k ’ '
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H
i

Given that the following are parallelograms, find x.

18 ~4 )

BT
:?')
«I"?',?“
R o
‘3,
&

b

L
L

@p\gpg Op; Syoues %//-OJIam
one &2
A-F = 3 +x

¥

R L

5 Bl=4yx
[4 =x]

em——

Find x for the following quadrilaterals:

47.
a. Suppose VWXY is a rectangle and

XV=4x-9and WY =x+ 3
b MWEWY QR00S M O
F€§ra’\5\m oL

~nJ
=

K ]
N\ /[ A9z x3
1 *{ s Sx =12

i

/N
||

H # I,‘

<E +<F = €0
S
VS + gy~ =160

Cc. e — %
e o m <P or op. LS OA
o Hl =Y ip O DA

—

-
con. \nF Lsone

wepl .

I§x +7 =180

‘)(—-kp

b. Suppose ABCD is a square and
AC =9y -8 and BD = 7y +8

Y %
AC 2RO OXAAS of) OuSguare.

Ay-y =Tyrg O =
Au =l



48.a. ABCD is a TQQLQ,{}S}SL“” 51 (5, ), = 3 €(5,—6),and D(9,—-3). Find the coordinates of A.
— PRI

_“[:1{ 3: L/\(( ’,,nj A( a _

b. ABCD is a rec angle \)\Alth B(10,7),€(10,4), and D(8 4) Fmd the coordmates of A.

Af-\ B L,£4 o / v\ g ) { )
49.Given the set of vertices, choose all that apply: Quadrilateral, Parallelogram, Rectangle,
Rhombus, and/or Square. /\\)\5 O = f\d A L L 0 l(;pe S

: =a), { —3,0), C(2, 2}, D(4, -3} ARD [3( LL a
ABRCD S a c.ku.adﬂ \)\S‘\-m

: '_% ¢ 1 1 ‘ }" j
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c. B(Q,3), E(1, -3), F(1, -9), G(-5, -3}

L—,F61 hcxs 4y Sides.' . .l
= L4 %MQdM\dLM_&O N\, AL = =\ (J}F) =l "f‘(a ( (,] [5 ‘10// )
o QOPS S TP ) S
. . FE®= (0% ¢ (,? //-¢ er:]
. Slope. G B = ° (1F*= * 4-(92*[4;,;:(:/2\

- o ] I, S o
T Y St OB FG ONGA (/\‘ L ¥ cides . 5!;,{:61}
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50.a. In a heptagon, one 1nter1or angle measures 35 degrees What is the total measure of the
other 6 interior angles?

A o Inv & one £ =35°
The otw 6 ngkes
~ Ny mus+ be 9o0-35

’ 8(05J
b. In a nonagon, one interior angle measures 120 degrees. What is the total measure of the
other 8 interior angles? Sum of the otvren ¥

Totol %um'. 120"+ X =120 ORES
-180( -2 v-m-weff:fj
= | L0 B = i 140

51.a. Given an isosceles trapezoid with height 3m and bases 18m and 26m. Find the perimeter,

-18=28-2
1gn(tn meters. fog = ¢ L 18 ‘ y AV
. - -
3 BN
= AN
= 1bm LLPMJ | 1

—
b. Given an isosceles trapezoid with helght 8 m and bases 13 m and 25 m. Find the
perimeter, in meters.

|2 m

&

rl

A5m



52.For isosceles trapezoid MNOP, find m<M, m<MNO and m<MNQ.

D Sum pj @]
¢ bg’ S “E N

(\;,/\-‘}-~'¢" N 2 ] 5Q° P L

-0 ‘ i 1 (»)
meM= 597 memno= 1Al m<Mmno=_ 3l

. 53.Find m< 1 if m<K=118, y
© A SsumeE. Yis oo o7
\S o H BRI J Ls:o,y
] 1 0‘\1.5"))' o°
we

Pora) \e,\uycm

1}
We -~ 90
oL [ g

54.1f m||n and triangle ABC is reflected over line m first, then line n, what transformation would
occur from AABC to AA’B”C”?

a. reflection
“u b. dilation

_c. rotation

~N Ny N
((/ d. translatmn X
A A__A_NT

55.1f LMNO is reflected over line k first, then line m, what transformation would occur from
LMNO to L"M”N”O”?

a. reflection

b. dilation
A.{\ \<\

C. rotation )
U - Vil

d. translation
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-
56. Given pomt A(6 -1), find its image if it is reflected across the y- W - o
(& 6 b. (6, -1) | #
c. (-6 d. (-1, 6) A

57. Given the point (x, y), write the image point if it is reflected across the x-axis.

L ()

i e6c
e

58. What is the image of Y(-7, 4) under the translation (x,y) = (x + 5, y)?

\

59. What is the pre-1 im ge of X’(2, 5) under the translation (x,y) = (x- 1,y + 2)?
,_,_,.._._.._

2 6X(3,9))

60. Find the reflection o pomt 6 1) across the line y = x.

) ( ) \ .

a. Square have? L{

b. Rectangle have? 2"

c. Isosceles Trapezoid have? l

d. Isosceles Triangle have? :L

e. Equilateral Triangle have?

f. Pentagon have? (\‘
P\csudow perio.4oN

| SogCe gy 1 Oupe 20V
. Ny
7 )\\
- AW
N4

120Seeles T n{ \&\{@



62. Graph the image of the figure with
a reflection across y = 2

A

: / Ij
2

=Y

64. Graph the image of the figure

&
S

with a rotation 90° counterclockwise

about the origin.

=

—

63

reflection across y = x

. Graph the image of the figure with a

A

A

Ay L
1
x
/)
) ;:_:'.\l‘: i
Y

65. Graph the image of the figure with a
rotation 90° clockwise about the origin.

e

)
| NS

HY




